C1l1 - 1.3 - Geometric Means Notes

Write the first terms 5 of the sequence

t1=2,T=3

X 3

P

2 6 18 54 162

’ ’ 7’ 7

6,18,54,16

t;= 1st term (aka:"aoru;")
r = common ratio

t,= termmn,every term

n = Term#,or # of terms

t, =9, ts = 243

9r3 = 243 5-2=3
r3=27

Jr3 =27
@ 3,9,27,81, 243

t, =4,t, = 16
+r Xr Xr Xr
"IV ",
) 4 ) ) 16 ,
t t, ts ty te
412 =16 4—-2=2
r2 =4
Jrz =14

42 X+2 x4+2 X+2
Y NN NN

2 4 8 16 32

7 ’ ’ ’

+-2 X—=2 x-2 X-2

Y N VN Y
-2 4 -8 16 ,—32
2,4,8,16,32 —2,4,—-8,16,—32
t; = 2,ts = 162
2r* =162 5—1=4
r* =81

2,6,18,54,162 2,—6,18,—54,162
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C11- 1.3 - Geometric Sequences Notes

3,6,12... =1 w0

A~ A 22

3, 6, 12, ... 168
t1 () t3 ty t1o tn
n=1 n=2 n=3n=4 n=5 n=7
t1=3

Ratio

r= En r= tn r= fn

tn—l tTL—l tn—l
r—é _12

3 =%

=D

t, =768,n="7

A term divided by the term before it

t,_1 = termbeforet,

Geometric: r must always be the same

Find the General termt, =?

t, = tyr"t

General term formula

t, = tyrt

The first term
times 'r — 1' dif ferences

t, = 3(2)"1

What is the fifthtermt;?ts; =7,n=5.

£, = 3(2)"1
ts = 3(2)" 1
ts =3(2)°7!

ts = 3(2)*
6

Remember: You could have also multiplied by the common ratio repeatedly

Check your answer: 3,6,12,24,48 J

The number 768 is what term?t, = 768,n =?

t, =3(2)" 1!
768 = 3(2)"L
256 = 2"

28 — Zn—l

8=n-1

divide both sides by 3

Change of base: 256 = 28
Same Base, exponents are equal

Or, Start from beginning

t, = tyr"t

= 3(2)°"!

Check your answer: 3,6,12,24,48,96,192,384,768 J
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